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52 5/6 E0IE ZHAL 3 Box 60,000
53 5/8 gt ZHA 5 M 75,000
54 5/10 =8t ZHA 1 M 15,000
55 5/12 OHsZ N 1 NE 150,000
56 5/17 =9t Al i N 15,000
57 5/17 =8t Al 1 M 15,000
58 5/17 e=ged Al 2 Box 40,000
59 5/17 HH Al 2 Box 50,000
60 5/18 SEML 7HAl 10 Box 100,000
61 5/22 St ZHAl 1 M 15,000
62 5/25 SH Al 1 Box 20,000
63 6/1 ASENE ZHAL 2 Box 20,000
64 6/4 OtsZ A= 1 NE 150,000
65 6/6 His, 2IMd+A & M= E 1 HE 100,000
66 6/9 o HAUSS AT =2 1 HE 50,000
67 6/9 2oy ue AlTHE 1 NE 50,000
68 7/4 23 ZHA 1 Box 10,000
69 7/5 S AT 2 100 M 100,000
70 7/18 p=gd 7HAl 2 Box 40,000
71 7/18 28t ZHAl 2 M 30,000
72 7/18 fH ZhAl 1 NE 20,000
73 7123 QIZE, UK 7HAl 1 NE 50,000
74 7/23 et ZHAl 2 M 30,000




a4 AUzt crel | arer3ol

75 | 7/25 7HA| Box 60,000

76 | 7/31 ZHAl Box 70,000

77 8/8 ZhAl M 15,000

78 8/15 ZHAl Box 20,000

79 8/17 ZHAl Box 20,000
80 8/19 A Box 40,000
81 | 8/22 ZHAl oM 75,000
82 8/22 ZHAl NE 20,000
83 8/22 ZHAl NE 5,000

84 9/5 Al Box 45,000
85 9/14 Al Box 40,000
86 9/19 I AT = Box 20,000
87 9/21 &gt ZHAl M 15,000
88 9/23 =3=1 ZHAL Box 10,000
89 9/26 iz Al Box 20,000
90 9/26 2= Al Box 10,000
91 9/26 H ZtA Box 25,000
92 9/27 =¥ Al Box 15,000
93 9/27 == ZHAl Box 10,000
94 9/27 Al Box 140,000
95 9/27 ZhAl Box 10,000
96 10/8 A M 40,000
97 10/8 Al Box 30,000
98 10/8 Al Box 20,000
99 10/8 ZhAl Box 20,000




71%'6
= | AL YKL ArELHY ALEH %EJF:‘_%I_ > | el 4939 | H2
o5
100 10/9 HELELE ZHA 2 Box 70,000
101 | 10/9 AMBRE Lol E 1 ME | 400,000
102 | 10/18 Qnze 7HA 3 NE 7,500
103 | 10/31 at AT = 1 k) 25,000
104 | 11/7 BELFLE 7HAl 2 Box 70,000
105 | 11/15 2 7HAl 1 Box 20,000
106 | 11/25 2 ZHAl 1 Box 20,000
107 | 11/27 ZgC 5 T2 1HEE 1 HE 70,000
108 | 11/29 2 Alx| 2 1 Box 20,000
109 | 12/18 | EMst=LZEE Al Z2OWEE 7 HE 210,000
110 | 12/21 2 ZHAl 2 Box 40,000
111 | 12/21 Qpze ZHAl 1 Box 20,000
112 | 12/24 £8 7HAl 2 Box 40,000
113 | 12/24 u ZHAl 40 y/ 40,000
114 | 12/27 2 ZHAl 1 Box 20,000
115 | 12/28 MBI ER AT DZ2]HED 1 HE 936,500
116 | 12/28 ABIDIEER Al D2IUES 1 NE 140,000
117 | 12/28 ABIDIEER™ ALY Z20HEE 1 N E 105,500
118 | 12/28 ABIDIEER Al ZZ2OUWEE 1 NE 200,000
119 | 12/28 ABDDIEER- AT T2]UWEE 1 N E 300,000
120 | 12/28 AEIDIEER Al D2OUWEE 1 N E 160,000
121 | 12/29 2 ZHAl 1 Box 20,000
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